$$\frac{\operatorname{Further examples}}{\operatorname{Q} 6.3.7}$$
(a) $(\infty - \infty \quad form)$
 $\operatorname{Iw}_{X>0+} \left(\frac{1}{X} - \frac{1}{\operatorname{AW} \mathcal{X}}\right)$ $(X \in (0, \frac{\pi}{2}))$
 $= \operatorname{Iw}_{X>0+} \frac{\operatorname{AW} \mathcal{X} - \mathcal{X}}{\operatorname{Xaw} \mathcal{X}}$ $(transform to \frac{0}{0} \quad form)$
 $= \operatorname{Iw}_{X>0+} \frac{\operatorname{AW} \mathcal{X} - \mathcal{X}}{\operatorname{Aw} \mathcal{X} + \operatorname{Xaw} \mathcal{X}}$ $(L'Hospital) \quad (still \quad \frac{0}{0} \quad form)$
 $= \operatorname{Iw}_{X>0+} \frac{-\operatorname{Aw} \mathcal{X}}{\operatorname{Aw} \mathcal{X} + \operatorname{Xaw} \mathcal{X}}$ $(L'Hospital)$
 $= \operatorname{Iw}_{X>0+} \frac{-\operatorname{Aw} \mathcal{X}}{\operatorname{Zaw} \mathcal{X} - \operatorname{Xaw} \mathcal{X}}$ $(L'Hospital)$
 $= 0$ $(limit exists, calculation juntified)$

(b)
$$(0 \cdot (-\infty) \text{ form})$$

 $\lim_{X \to 0+} \times \ln X$ $(x \in (0, \infty))$
 $= \lim_{X \to 0+} \frac{\ln X}{\frac{1}{X}}$ $(\text{transfuns to } \frac{-0}{\infty} \text{ form})$
 $= \lim_{X \to 0+} \frac{\frac{1}{X}}{-\frac{1}{X^2}}$ $(1 \text{ transfuns } to \frac{-0}{\infty} \text{ form})$
 $= \lim_{X \to 0+} \frac{1}{-\frac{1}{X^2}}$ $(1 \text{ transfuns } to \frac{-0}{\infty} \text{ form})$
 $= \lim_{X \to 0+} (-x) = 0$ $(1 \text{ transfuns } to \frac{-0}{\infty} \text{ form})$

(c)
$$(0^{\circ} \text{ frue})$$

 $\lim_{X \to 0^{+}} \chi^{X}$
 $= \lim_{X \to 0^{+}} e^{\chi \ln \chi}$
 $= e^{\lim_{X \to 0^{+}} \chi \ln \chi}$ $(\text{ fransforms to } 0 \cdot (-\infty) \text{ frans which})$
 $= e^{\circ} = 1$
 $= e^{\circ} = 1$

$$(d) (1^{\infty} fam)$$

$$\lim_{X \to \infty} (1 + \frac{1}{X})^{X} \qquad X \in (1, \infty)$$

$$= \lim_{X \to \infty} e^{X \ln(1 + \frac{1}{X})}$$

Transforms to the calculation of

$$\lim_{X \to \infty} \times \ln\left(1 + \frac{1}{X}\right) \qquad (0 \times 0 \text{ form}\right)$$

$$= \lim_{X \to \infty} \frac{\ln\left(1 + \frac{1}{X}\right)}{\frac{1}{X}} \qquad (\text{transform to } \frac{0}{0} \text{ form}\right)$$

$$= \lim_{X \to \infty} \frac{\left(-\frac{1}{1 + \frac{1}{X}}\right) \cdot \left(-\frac{1}{X^2}\right)}{\left(-\frac{1}{X^2}\right)} \qquad (\text{L'Hospital})$$

$$= \lim_{X \to \infty} \frac{1}{1 + \frac{1}{X}} = 1 \qquad (\text{limit exists, calculation justified})$$

And hence $\lim_{x \to \infty} (1 + \frac{1}{x})^{x} = e^{\lim_{x \to \infty} x \ln(1 + \frac{1}{x})} = e^{1}$

(e)
$$(\infty^{\circ} \text{ form})$$

 $\lim_{X \to 0^{+}} (1 + \frac{1}{X})^{\times} (XE(0, \infty)) (\text{limit of the other end})$
 $= e^{\lim_{X \to 0^{+}} \times \ln(1 + \frac{1}{X})} (\text{transfirm to } 0 \cdot \alpha \text{ form})$
 $= e^{\lim_{X \to 0^{+}} \frac{1}{1 + \frac{1}{X}}} (L'Hospital as before)$
 $= e^{\circ} = 1$. (limit exists, calculation justified)

\$6.4 Taylor's Theorem

Recall: If f(x) has n-th derivative at a point Xo, then the polynomial $P_n(x) = f(x_0) + f'(x_0)(x - x_0) + \dots + \frac{f^{(n)}(x_0)}{n!}(x - x_0)^n$ is called the n-th Taylor's Polynomial for f at x_0 . Note: $P_n^{(k)}(x_0) = f^{(k)}(x_0) \quad \forall k = 0, 1, \dots, n$.

Thm 6.4.1 (Taylor's Thm)
let
$$n \in \mathbb{N}$$
 (i.e. $n=1,2,...$)
 $f:[q,b] \rightarrow \mathbb{R}$ such that $(a < b)$
 $f:[q,b] \rightarrow \mathbb{R}$ such that $(a < b)$
 $f:[q,b] \rightarrow \mathbb{R}$ such that $(a < b)$
 $f:(x), f^{(n)}$ are cartinuous on $[q,b]$ and
 $f:(x) = n(x) + (a,b)$.
If $x_0 \in [q,b]$, then $\forall x \in [a,b]$, $\exists c \underline{between x_0 and x}$ such that
 $f(x) = P_n(x) + \frac{f^{(n+1)}(c)}{(n+1)!} (x - x_0)^{n+1}$
where $P_n(x) \in the n-th$ Taylor's Polynomial of f at x_0

Remark:
$$R_n(x) = f(x) - P_n(x)$$
 is referred as the remainder and
 $R_n(x) = \frac{f^{(n+1)}(c)}{n+1}(x-x_0)^{n+1}$
is called the Lagrange form of the remainder,
 α derivative form of the remainder.

Ef (of Thur 6.4.1)
let Xo, X \in [a,b] be given.
If Xo=X, then the formula is clear.
If Xo=X, we let

$$J = [Xo, X]$$
 a $[X, Xo]$ depending on $X \times Xo$ a $Xo \times X$.
Then J is a closed interval & $J \subset [Z, 5]$
Consider, for $t \in J$,
 $F(t) = f(X) - f(t) - (X-t) f(t) - \frac{(X-t)^2}{2} f(t) - \dots$
 $\dots - \frac{(X-t)^n}{n!} f^{(n)}(t)$

Then,
$$\mathbf{F}(\mathbf{x}) = 0$$
,
 $\mathbf{F}(\mathbf{x}_0) = f(\mathbf{x}) - P_n(\mathbf{x}) = R_n(\mathbf{x})$ is the remainder

with
$$F(t) = -f(t)$$

+ $f'(t) - (x - t)f'(t)$
+ $(x - t)f'(t) - \frac{(x - t)^2}{2}f(t)$
+ ...
+ $\frac{(x - t)^{n-1}}{(n-1)!}f^{(n)}(t) - \frac{(x - t)^n}{n!}f^{(n+1)}(t)$
= $-\frac{(x - t)^n}{n!}f^{(n+1)}(t)$

Consider further the function $G(t) = F(t) - \left(\frac{x-t}{x-x_0}\right)^{n+1} F(x_0) \quad \text{for } t \in J$

Then G is continuous on J, differentiable in the interia of J,

and
$$\begin{cases} G(x_0) = F(x_0) - \left(\frac{x - x_0}{x - x_0}\right)^{n+1} F(x_0) = 0 \\ G(x) = F(x) - \left(\frac{x - x_0}{x - x_0}\right)^{n+1} F(x_0) = 0 \end{cases}$$

By Rolle's Thm, I CE interior of J (i.e. between xo ex)

St.
$$O = G(C) = F(C) + (h+1) \frac{(x-C)^{n}}{(x-x_0)^{n+1}} F(x_0)$$

$$\begin{array}{ll}
\vdots & \widehat{R}_{n}(x) = F(x_{0}) = -\frac{1}{(n+1)} \cdot \frac{(x-x_{0})^{n+1}}{(x-c)^{n}} F(c) \\
&= -\frac{1}{(n+1)} \cdot \frac{(x-x_{0})^{n+1}}{(x-c)^{n}} \cdot \left(-\frac{(x-c)^{n}}{n!} \cdot \frac{(n+1)}{(c)} \right) \\
&= \frac{1}{(n+1)!} \cdot \frac{(x-x_{0})^{n+1}}{(n+1)!} \cdot \frac{(n+1)}{(c)} \\
&= \frac{1}{(n+1)!} \cdot \frac{(x-x_{0})^{n+1}}{(c)} \cdot \frac{(x-x_{0})^{n+1}}{(c)} \\
\end{array}$$

 $\underbrace{eg \ 6.4.2}_{(Approx)} (Approx)(action of values)$ (a) Use Taylor's Them with $\underline{n=z}$ to approximate $\sqrt[3]{1+x}$, near x=o (x>-1). Let $f(x) = ((+x)^{\frac{1}{3}}, x_0 = 0)$ For n=z, $P_2(x) = f(x_0) + f(x_0)(x-x_0) + \frac{f'(x_0)}{2!}(x-x_0)^2$ using $f(x) = ((+x)^{\frac{1}{3}}, f(0) = 1)$, $\Rightarrow f'(x) = \frac{1}{3}(1+x)^{\frac{3}{3}}, f'(0) = \frac{1}{3}$ $\Rightarrow f'(x) = -\frac{2}{9}((+x)^{\frac{5}{3}}, f'(0) = -\frac{2}{9}$ $\therefore P_2(x) = (+\frac{1}{3}x - \frac{1}{9}x^2)$

And Rence $f(x) = P_2(x) + R_2(x) = 1 + \frac{1}{3}x - \frac{1}{9}x^2 + R_2(x)$

where
$$R_{z}(x) = \frac{1}{3!} \int_{-\infty}^{\infty} (c)(x-x_{0})^{3} = \frac{1}{3!} \left(\frac{2 \cdot 5}{9 \cdot 3}\right) (1+c)^{\frac{8}{3}} x^{3}$$

= $\frac{5}{8!} (1+c)^{-\frac{8}{3}} x^{3}$ for some c between 0 ex.

Explicit eg: If
$$x = 0.3$$
.
Then $P_{z}(0.3) = 1 + \frac{1}{3}(0.3) - \frac{1}{9}(0.3)^{2} = 1.09$
 $R_{z}(0.3) = \frac{5}{81} \cdot \frac{1}{(1+C)} g_{s}(0.3)^{3}$
 $\Rightarrow |R_{z}(0.3)| \leq \frac{5}{81}(0.3)^{3}$ since $c \in (0,03) \Rightarrow C > 0$
 $= \frac{1}{600} < 0.0017$
 $\therefore |f(0.3) - P_{z}(0.3)| < 0.0017$
 $\therefore |f(0.3) - P_{z}(0.3)| < 0.0017$
 $\therefore |f(0.3) - P_{z}(0.3)| < 0.0017$

(b) Use Taylor's Thin to approximate e with error $< 10^{-5}$ (5 decimal places) (Assuming that we have defined e^{X} a proved $(e^{X}) = e^{X}$, e^{X} invasing, $k \in < 3$.)

Let $g(x) = e^{x}$, $x_0 = 0$. Then by $(e^{x})' = e^{x}$, we have $g^{(k)}(x) = e^{x}$, $\forall k = 1, 2, 3, ...$ Suppose that we need to use Taylor's Thu up to n. Then the error is given by the remainder term

$$R_n(x) = \frac{1}{(n+b)!} e^{c} x^{n+1}$$
 for some c between $0 \ge x$

Take x=1, we have

$$0 < R_n(1) \le \frac{e}{(n+1)!} < \frac{3}{(n+1)!}$$
 (0-5, we need
 $\frac{3}{(n+1)!} < 10^{-5}$
i.e. $(n+1)! > 3 \cdot 10^5 = 300000$ (should use the suidlest
powhen to reduce calculation)
Try: $(8+1)! = 9! = 362880$ ((7+1)! = 8! = 40,320)
 $\therefore n=8$ is the required value and thence
 $e = g(1) \approx P_8(1) = g(0) + g'(0) \cdot 1 + \frac{g'(0)}{2!} \cdot 1^2 + \dots + \frac{g'(0)}{8!} \cdot 1^8$
 $= 1 + 1 + \frac{1}{2!} + \dots + \frac{1}{8!}$ with error < 10⁻⁵
 $= 2.7 + 18278 \dots$ (use calculator / computer)
 $\therefore e = 2.71828$ up to 5 decimal places

eg 6.4.3 (Applications to inequalities)
(a)
$$1 - \frac{1}{2}x^2 \le coox$$
, $\forall x \in i\mathbb{R}$
Ef: let $f(x) = coox$, $\forall x = 0$,
Then Taylor's Thm. \Rightarrow
 $coox = 1 - \frac{1}{2}x^2 + R_2(x)$ (clock!)
with $R_2(x) = \frac{f^{(3)}c_0}{s!}x^3 = \frac{ainc}{6}x^3$ for some c between $0 \approx x$.
If $0 \le x \le \pi$, then $0 \le c < \pi$ (the case $x = 0$, we have $c = 0$)
 \Rightarrow ainc ≥ 0 , $x^3 \ge 0$
Hence $R_2(x) \ge 0$.
 $\therefore 1 - \frac{1}{2}x^2 \le coox$ $\forall x \in [0, \pi]$.
If $x \in E\pi, 0$), then $y = -x \in (0, \pi]$
 $\Rightarrow 1 - \frac{1}{2}y^2 \le cooy$
Using $co(-x) = coox$, we have $1 - \frac{1}{2}x^2 \le coox$.
Hence $1 - \frac{1}{2}x^2 \le coox$, $\forall x \in [-\pi, \pi]$.
If $|x| > \pi$, then $1 - \frac{1}{2}x^2 \le coox$ $\forall x \in [\pi, \infty]$

(b)
$$\forall k=1,2,3,\dots, k \quad \forall X>0$$

 $X-\frac{1}{2}X^{2}+\frac{1}{3}X^{3}-\dots-\frac{1}{2k}X^{2k} < \ln(1+X) < X-\frac{1}{2}X^{2}+\frac{1}{3}X^{3}-\dots+\frac{1}{2ktl}X^{2ktl}$

$$\frac{Pf}{f}: \text{ let } f(x) = \ln(1+x) \quad \text{fn } x > -1 \quad (\text{mistake in textbook })$$

$$\text{Then } f'(x) = \frac{1}{1+x}, \quad f'' = \frac{-1}{(1+x)^2}, \quad \cdots \quad f^{(n)} = \frac{(-1)^{n-1}(n-1)!}{(1+x)^{n-1}}$$

$$\therefore \quad f^{(n)}(0) = (-1)^{n-1}(n-1)!$$

⇒ nth Taylor's Poly of lu(ItX) at X=0 is

$$P_n(x) = 0 + 1 \cdot x - \frac{1}{2!} \cdot x^2 + \frac{1}{3!} \cdot (2!)x^3 - \dots + \frac{1}{n!} (-D^{n-1})!x^n$$

 $= x - \frac{1}{2}x^2 + \frac{1}{3}x^3 - \dots + \frac{(-D^{n-1})!x^n}{n!}x^n$

and Remainder is

$$R_{n}(x) = \frac{(-1)^{n} n!}{(n+1)!} \frac{(}{(1+c)^{n+1}} x^{n+1} \quad \text{for some } c \text{ between}$$

$$o \text{ and } x$$

If X>0, then C>0, and have I+C>1

$$\Rightarrow R_n(x) = \frac{(-1)^n}{(n+1)} \cdot \left(\frac{x}{1+C}\right)^{n+1} \begin{cases} > 0 & \text{if neven} \\ < 0 & \text{if n odd} \end{cases}$$

. For n=2k, $ln(I+X) = P_{2k}(X) + R_{2k}(X) > P_{2k}(X)$

ie.
$$ln(HX) > X - \frac{X^2}{2} + \frac{X^3}{3} - \dots - \frac{X^{2k}}{2k}$$
 ($\forall X > 0$)

$$A \quad Fn \quad n = 2kt1 \qquad ln(ltX) = P_{2kt1}(X) + R_{2kt1}(X) < P_{2kt1}(X)$$

$$ie \quad ln(l+X) < X - \frac{X^2}{2} + \frac{X^3}{3} - \cdots + \frac{X^{2kt1}}{2kt1} \qquad (\forall X > 0)$$

(c) $e^{\pi} > \pi^{e}$

Pf = Taylor's Thm $\Rightarrow e^{X} = 1 + X + R_{1}(X)$ (see eq 6.4.2) with $R_1(x) = \frac{e^{C}}{2} \times x^2 > 0$ for some C between $O \otimes X$. (Using the fact that e^C>0, UCEIR) $-: e^{X} > 1 + X$, $\forall X \neq 0$ Put $X = \frac{\pi}{e} - 1 > 0$ (using known approx, values of $\pi \neq e$) into et, we have $O(\frac{\pi}{e} - 1) > 1 + \frac{\pi}{e} - 1 = \frac{\pi}{e}$ $\Rightarrow e^{\frac{\pi}{e}} > \pi$ $\Rightarrow e^{\pi} > \pi^{e}$

Application to Relative Extrema (Higher Derivative Test)

Thm 6.44 Let
$$\cdot f: I \rightarrow IR$$
, $(I = interval)$
 $\cdot x_0$ be an interior point of I
 $\cdot f', f'', \dots, f^{(n)}$ exist and continuous
 $in a Nbd of x_0$.
 $\cdot f'(x_0) = f''(x_0) = \dots = f^{(n-1)}(x_0) = 0$, $f^{(n)}(x_0) \neq 0$
Then
(i) n even $\underset{f''(x_0) > 0}{=} \Rightarrow f$ has a relative minimum at x_0
(ii) n even $\underset{f''(x_0) < 0}{=} \Rightarrow f$ has a relative maximum at x_0
(iii) n even $\underset{f''(x_0) < 0}{=} \Rightarrow f$ has a relative maximum at x_0
(iii) n even $\underset{relative}{=} f$ has a relative maximum at x_0

Remark: If n=z, it is the 2nd Derivative Test.

$$Pf: If f^{(n)}(x_0) \neq 0 \text{ and } f^{(n)} (antimuons),$$

$$then \exists nbd U = (x_0 - \delta, x_0 + \delta) \subset I \text{ of } x_0 \text{ such that}$$

$$Sgn(f^{(n)}(x_0)) = Sgn(f^{(n)}(x_0)), \quad \forall x \in U. - - (t),$$

Now, using $f'(x_0) = \cdots = f^{(n-1)}(x_0) = 0$,

the Taylor's Thm =>

$$f(x) = f(x_0) + \cdots + \frac{f^{(n-1)}}{(n-1)!} (x-x_0)^{n+1} + \frac{f^{(n)}(c)}{n!} (x-x_0)^n$$

$$= f(x_0) + \frac{f^{(n)}(c)}{n!} (x-x_0)^n, \quad \text{for some c between } x_0 \in x$$

- 5 has a relative maximum at Xo.

Application to Convex Functions

Def 6.4.5 let I be an interval.
A function
$$f=I \Rightarrow \mathbb{R}$$
 is said to be convex on I
if $\forall t \in [0,1]$ and any $x_{1,}x_{2} \in I$, we have
 $f((l-t)x_{1}+tx_{2}) \leq (l-t)f(x_{1})+tf(x_{2})$



Pf (=>) (Ex16 of §6.4 to be assigned in homework 3) f''(x) exists \Rightarrow $f''(x) = \lim_{h \to 0} \frac{f(x+h) - zf(x) + f(x-h)}{h^2}$ Now, f convex on $I \Rightarrow$ VXEI and RER such that XIREI, we have $f\left(\frac{1}{2}(x+\alpha)+\frac{1}{2}(x-\alpha)\right) \leq \frac{1}{2}f(x+\alpha)+\frac{1}{2}f(x-\alpha)$ ίę. $2f(x) \leq f(x+t_{x}) + f(x-t_{x})$ Therefore $\frac{f(x+h)-2f(x)+f(x-h)}{h^2} \ge 0$ $\Rightarrow f'(x) = \lim_{h \to 0} \frac{f(x+h) - zf(x) + f(x-h)}{h^2} \ge 0 \quad \forall x \in \mathbb{I}.$

(To be cart'd)